SAMPLE QUESTIONS

AHAT U I hdel Hih(d® &
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The sample question paper is only indicative

In the objective type of test, each question is followed by 4 alternative suggested answers, one of which
is the correct answer. You have to select the correct answer. All questions will be bilingual i.e. Hindi and
English.

Section A - GENERAL AWARENESS

1. What is the objective of the scheme ‘Nai Manzil’ of Government of India? / 8RR TR I
‘TS HTTel TITelT T 32T FIT &7

A. Building cheap houses for the poor in rural areas / TTHIUT SelTehl H IRTST o ToIT TET BT
T forAToT

B. Sending a satellite to Jupiter / €T A TR 3YE HTIT

C. Education and skill training for minorities / 3ecaa&ehI o TorT TALT 3R sierer gfrgTor
D. Providing laptops to poor girl children / ITe STTOISRT3TT ST SIIeIT YT il

2. The Mahamastakabhisheka of Bahubali at Shravanabelagola was held on after 12
years./lzaﬁaﬁmv@mﬂmﬁuaa@aﬁrwmfﬁw T Y97
g3l

A. April 2018 / 31T 2018
B. March 2018 / HT=I 2018
C. February 2018 / %@l 2018
D. January 2018 / SieTaiY 2018
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SAMPLE QUESTIONS

3. Who has been awarded the ‘Bharatiya Jnanpith’ for the year 2017? / ay 2017 & 'HRAT
Fedls' 8 fohd @At fohar aram?

A. Raghuveer Chaudhary / TEAIX Tiler
B. Ravuri Bharadwaja / JrGeY $TRedrst
C. Krishna Sobti / suTT Srerclt

D. Chandrasekhar Kambar / T¢IET e

4. Who has been appointed as the first woman Secretary General of Lok Sabha? / clierardT &hr
qgell Al HeraRIa & €9 & fohden! fagerd fohar aar g2

A. Ratna Prabha / JTceT TAT
B. Sindhushree Khullar / ﬁf{_{%ﬁ geok

C. Snehlata Srivastava / TigoldT SarEdd
D. Kavery Banerjee / ShTa{l SaTail

5. Which of the following is the first Indian city to have a logo? / fF=TIE&T & & &leT @T
g el o1 g ToTdenT 3T ellel (Fciteh TgeT) 872

A. Bengaluru / SaTef®
B. Delhi / fgeelr
C. Mumbai / §s$

D. Hyderabad / §e1eTg

6. A.R. Rahman won an Oscar for which of the following movies? / fa&=ifaf@ad & 4 forg
fher & oI U.3TR. TEHTT o 3TET S

A. Million Dollar Baby / f&forget ster st
B. Slumdog Millionaire / Feras1aT fAafamR
C. Namesake / siHTH

D. Pele / Uel
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SAMPLE QUESTIONS

7. The original Panchatantra was written by: / Hel Tac¥ SeTeh SaRT T e o

A. Pandit Vishnu Sharma / GfSe farsoy erT
B. Chanakya/ dToTeFT

C. Bhavabhuti / ras{fcl

D. Mulk Raj Anand / feeh 1T 37Tele;

8. Name the memorial built to commemorate British Indian army who died during the first
World War: / 92# faa g o eRTeT Hcg 19 el arel fafeer IR @11 & TAor &
A TIR® &1 A3 Fa1g:

A. National War Memorial / I Jg THARS
B. Tawang War Memorial / ddTeT Jg THRH

C. Gateway of India / 3rcd 31w sf3ar
D. India Gate / 3f3ar 31

9. Who among the following Industrialists won the Bharat Ratna in 1992? / 1992 # faa=Ifaf@d
A 4 fora 3eeafd o #RT Tee S

A.JR.D. Tata /313 Sr.Crer

B. Dirubhai Ambani / fI81TS 31T
C. Rahul Bajaj /Tlg?»ram

D. Azim Premji / 3751 9&T<ir

10. India's first mission to the moon was called .| TGHAT 9T AR T Igell [AQr
& ITH O ST SATAT ST ¢

A. Aryabhata / 3878

B. Avatar / 3[ddX

C. Chandrayaan-1/ IgaTeT -1
D. Mangalyaan / F3TeldTeT
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SAMPLE QUESTIONS

AT o - FricAs vl wef fawal, anh 1, Breltar ufey 3R amsdans
fRre], & HTT FAHAT YT AAST & |

Section B — FUNCTIONAL SUBJECTS contains sample questions related to all the streams i.e
Gr.1, Diploma Trainee and ITI Trainee.

Section B— FUNCTIONAL SUBJECTS

11. The transactions of a business should be recorded separately from its owner. What is this
concept of accounting termed as? / Teh TIGHTT o oleTcel hl SHeh HTToleh GART 3eldT &

RPIS HIAT AR | S WTeheT T SH ITTRUT T FIAT gl ST g2

A. The economic entity concept / 3T g1 TEROMT
B. Separate identity concept / J¥eh cgTeCcd ATUROT
C. Accruals concept / StgdeT TR0

D. Matching concept / gHeleT ITEROT

12. Viscosity is considered as property in model analysis. / Ifa%q fageiyor #,
QUTeTT 0T & &9 H AL ST 8|

A. geometric / SaTfATAS
B. kinematic / [&dTicieh
C. dynamic / arfaefrer

D. dimensionless / TEATET

13. Find the loss of head per unit length of pipe with diameter 100mm and velocity 100m/s; and
Chezy’s constant, C=50. / doil & FER® C= 50 3R 100 Hey/AHvs & 9T IR 100

e & care Fr Aforer T ufa sors awars MY Fr g1far 19 HY |

A. 160
B. 16
C. 10
D. 0-16
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SAMPLE QUESTIONS

14.

15.

16.

17.

Which of the following assumptions are not there in deriving Bernoulli’s equation? / aﬁ(\_v"ﬂ'—

THNHIOT 1 ITedt ey 3 et & & et oY qderom 781 &2

A. Viscosity is zero / T Y &

B. Fluid is steady / a¥eT TR &

C. Flow is incompressible / 9aTg 3rdsT &
D. Flow is rotational / Srarg goft &

Platinum resistance thermometer can be used upto °C. / TotfesTeT IfaRier argardy
& °C Teh T fondT ST HehlT & |

A. 850
B. 1200
C. 1500
D. 200

Variable resistors that allow the resistance value to be adjusted between zero and some value

are known as . | ARt 9feRTer St gfeRier A7t &I g 3R o AT &
I FARNTST X T 3eTATT & 8, 376 & T 3 ST STl &

A. thermistors / H YfaR e
B. conductors / HdTgeh
C. potentiometers / faeTg#TdY

D. thyristors / A8 REEX

The effect of negative feedback is to increase the of a series voltage negative feedback
amplifier by a factor of (1+Avp). / FOcHb Qﬁg'%d' I YHTT (1+AVP) & Teh Rk CaRT

Aot et HOMcHS FTIYSe Tatien T A gig HT B

A. output impedance / f&3Ta gfaarer
B. input impedance / TTase gfaerer
C. bandwidth / 85 &T Ttsrs

D. voltage gain / alecsT T8t
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18.

19.

20.

21.

What will be the power gain of an amplifier if it has an input power of 400uW and a peak-to-
peak output voltage of 15V across a load resistance of 1KQ? / Teh Satieh T ATFd oITeT &1

g, afe saeht fAfase afed 400pw & 3R 1KQ & &is 9faRrer & & @Re fFed arecs
15V g?

A.50.1
B.70.3
C.215
D. 98

Finding out future value of present money is known as / FIAT 9 & HiasT AT
T IdT TaTTeAT & ®9 H AT SATAT & |

A. Discounting / $§=1T$

B. Compounding / Trshd &
C. Deferring / 3ITHIITT
D. Lagging / 9RRasesT

Registration under Central Excise is now online and can be made in website /

FET 3cUTes Yook & AN TollendoT 319 Jieollged aam & dewe
R TRaT ST T &.

A. Traces / 289
B. Mca / tTHHEIT

C. Aces / T8H
D. Income Tax India / SAshd ¢FH 3T

Rights that entitle the employees to receive cash/shares for the excess of market price over a

stated price on the exercise date. / @ 3TOHR ST FHATRAT &Y 39ATT et & v AURT
Hed W 3118 SR Fed o [T w7ehe; / AR UTe et g TR B |

A. Employee Stock Option Plan / Saml Tl faeheq ATete

B. Employee Stock Purchase Plan / & TeTeh s il

C. Stock Appreciation Right / QI 31T eelaeT 31T

D. Employee Share Obligation Plan / S#<RY SRR &1f¥ca Tst=Tr

Page 6 of 9




SAMPLE QUESTIONS

22.

23.

24,

25.

In ancient world long distance communication was first improved by / qRTclT &rel #, et

o & HYYUT BT FAYAH I [AHT & GaRT 3Tl fomar a1 2

A. Darius / R=g

B. Cyrus / €ISIH
C. Romans / q#ATH

D. None of the above / 378 & HIS gl

Which of the following is a very common mass-media product? / feFATol@d & & leT &t
Teh AT STol-HT3AT 3c9TE 82

A. Financial issues / facdra gaEam

B. Poverty / RIS

C. Political agenda / TSTeilfcieh ToisT

D. Atrocities and torture against women / FIGeT3iT & el a7 AR AR

Structure constructed across the dam in order to avoid damage or overflow is called

./ &7fa a7 31fAvarg ¥ J9a & fou, §7er fr 3w [fET a==ar
FHgelTdl g

A. surge tanks / HGITH T
B. spillways / 37f&Icera ATaT
C. gate / @dRX

D. reservoirs / STellRIT

Variable resistors that allow the resistance value to be adjusted between zero and some value

are known as .| aR@ 9feRIYr S 9foRIY Al 1 - 3R FS AT &
e ARSI et &1 AT & 8, 36 & ® H AT AT

A. thermistors / 5H JTaRTersn
B. conductors / HdTgeh
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26.

27.

28.

C. potentiometers / fasTaaTdY
D. thyristors / a18RTeX

For which one of the metals a grinding machine should be used for edge preparation? /

fAAATIRAT & @ fovet Teh 1 & T, Teh I3Ear AR Y fhaAR I =11t & o g=tar
o STar 82

A. stainless steel / FeTor Tl
B. cast iron/ SrdC AT

C. mild steel / ATSIS e

D. copper / SIaX

Due to excess of weaving, the edge of plate melted off will generally happens in v

TeATS T 7T g1t oh SHRUT, GTgehl & TeheTRT T TUETAT HTHTI: Aargl

A. Butt joints / T&FR IS

B. Lap joints / o9 IS

C. Teejoints / & A8

D. Inside corner joints / e} 3118 & 37wl

Which one of the following tool angles is provided, to avoid rubbing of the body of the tool

with the work piece? / 3T T 73T &l gk G & WSl F AT & fov e HF F sl ar
T 3SR SI0T T ST 87

A. Rake angle / Y& I0T

B. Helix angle / gfelehd ahloT

C. Clearance angle / TFe® 0T

D. None of the above / 3TRIehd H & HIS Tal
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29. Rotary converter can be used to convert: / EUTf RaTa 38 aRafdd st & ol giter
fohaT T ThaT &

A.AC.toD.C./THTHIar.4r
B.D.C.to A.C./3ardT&wIv.dr
C.BothA &B/A &Bgiat

D. None of the above / 3T IS gl

30. The conductivity of aluminium as compared to copper is: / T3 T JefeTl A Vel AT I
EIGET KK

A. 80%
B. 100%
C. 60%

D. All of the above / 3Ud Y

*khkk

Sr.Manager (HR)
Recruitment Cell
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